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1. ROFERZMT. (S5, A1, B 15458, C#Hk4am)

(1) z:8=5:6 (2) 5:09=10: 3z

3 (7T—z):2=2:5 4) 9:b-2)=12:(z+2)
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2. XoFFERZMT. (S5, A1, BH1T 458, C#H4ay)

(1) r:15=3:10 (2) 4:1.5=10:3x

3 (11-=x2):6=2:5 (4) 8:(7T—x)=12:(z+5)
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RETFAN 1XRAERX H 04 BEEES

1. ROFERZMT. (S5, A1, B 15458, C#Hk4am)

* LkoAEX AADE = RlOE
A:B=C:D & AD = BC

(1) 2:8=5:6 (2) 5:09=10: 3z
X6 = 8X5 d5x3x = 09x10
6z = 40 15z = 9
3z = 20 <+ 2 Sz = 3 i =3
20 3
r = — r = =
3 5
(3) (7T—z):2=2:5 4) 9:b—-2)=12:(z+2)
(T—z)x5 = 2xz Ix(x+2) = (Bb—2z)x12
57—2z) = 2z 9z +2) 12(5 — x)
35—-5r = 2z 3(x +2) 4(5 — x) —jid + 3
—T7x = =35 3z +6 20 — 4z
Tz 14
T = 5
T 2
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2.

ROFGEREMT. (SHhas®, Ak 14, B17345%, C#k45)

(1) =z:15=3:

rx10 =

10z =

20 =

10

15 x 3

(3) (Il1—2z):6=x:5

(11 —2)x5

5(11 — )

95 — 5z

—11x

= 6z

= 6x

= —55
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(2) 4:1.5=10: 3z

4x3x =

120 =

dr =

(4)  8:(T—z)=12:(z+5)

8 X (z+5)

8(z+5)

2(z +2)

2¢ + 4

5x

(7T— ) x 12

12(7 — z)

15 — 3x
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